K

i AXRIS A 5 o] A=
2 SUS S3Y LY U DY YUY ATS

=5 4Y/HIE o[0ix|

[> 0H tn 3
™ 1% ou40
W]
i

=]

Rl

o

MH my 2 B
npurerg
Jm
e

o n
=
=0
0% |m

[> 1§
Juok H" H-|

1
z

St i 0Q
> F
L

1A o rok

>
=

o Hu
o

Hr
e

AL Ho k1 0
> o3 T
0

T T
X NN

rr k7 o

- 1o
y TIF T

(@
a
=

)
iy

K0060.0100 2! K0060.0150

HAHS W o =8 33
UNIA2]:

K0098

K0100

K0101

K0102

K0103

K0106

EMH MY
1) 1%l 1

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 1/3



K0060

Ui
Al
4
HO

i
60

e

o
m_

il
B0
<

70

<k
H

i

ml

L

B1

Al

L1

@%

3" 2

A—L-A—2

|
i
m\i
NEE
o,
M,
Lz
_ q
7 =i
% ;.J 34 |
| <
o
w_n_
| ——
v
14§_1
by | | |
L 2 <
QS
M,

K0060.0200 K0060.0300

K0060.0100

or

Hr
Hia

HI
i

mr
0

N
KT
K0
U
Y
4
HO

mi
60

o
ok
zll
0
<+

2/3

www.kipp.com - info@kipp.com

© HEINRICH KIPP WERK GmbH & Co. KG



°
2 ST $A HTW U DHH SUIATIS
=29
FEHS R AET g5 E 2RI T 2 &8 &9y FHTHY SR
g9 g9l ] a8 FH F1 F3 EotAE T8
T e M e WA= AEH Gg N N N
K0060.0100 95° 185° 65° 105° 80 850 650 K0100.16
K0060.0150 95° 185° 75° 110° 120 1500 900 K0100.19
K0060.0200 105° 175° 70° 95° 100 1600 1150 K0100.22
K0060.0250 95° 160° 70° 100° 190 2500 1150 K0100.28
K0060.0300 105° 160° 65° 90° 130 3000 1150 K0100.28
K0060.0350 90° 180° 70° 110° 230 3500 1650 K0100.30
K0060.0450 90° 180° 70° 110° 260 4500 1650 K0100.34
K0060.0550 90° 180° 65° 110° 290 5500 1900 K0100.35
FEHS A A A2 A3 B Bl B4 C CI D H L L1 M FE #3
A
K0060.0100 16 28 6 14 24 34 175 22 95 48 103 65 32 M5x35 -
K0060.0150 127 271 7 - 27 38 - 23 11 51 125 60 26 M6x50 K0098.02
K0060.0200 19 35 8 127 27 42 25 29 127 55 135 77 37 M6x50 -
K0060.0250 19 35 8 - 32 47 - 29 215 71 175 8 45 M8x60 K0098.04
K0060.0300 25 43 9 19 345 52 - 32 215 8 186 115 65 M8x60 -
K0060.0350 32 5 9 - 45 64 - 40 255 83 220 123 65 M10x80 K0098.06
K0060.0450 32 53 10 - 45 64 - 47 30 87 228 1365 74  M12x100 K0098.06
K0060.0550 51 76 125 - 70 95 - 81 38 123 312 1965 108  M16x150 -

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com -

info@kipp.com

3/3



